

Generalization of Zero Bounds and Zero-Free Regions for Quaternionic Polynomials

^[1] Bashir Ahmad Ganie, ^[2] Varun Mohan, ^[3] Khursheed Alam

^[1] ^[2] ^[3] Department of Mathematics, Sharda University Gr Noida UP, 201310, India

Corresponding Author Email: ^[1] ganiebashir@gmail.com, ^[2] varun0503ind39@gmail.com, ^[3] khursheed.alam@sharda.ac.in

Abstract— In this paper, we present certain results on the zero bounds and zero free regions for quaternionic polynomials by relaxing the condition of monotonicity on the coefficients of a polynomial and thereby obtain generalizations and refinements of many known results.

Index Terms— Enestrom-Kakeya Theorem, Quaternionic Polynomial, Regular functions, Zeros.

I. INTRODUCTION

$$P(z) = \sum_{j=0}^n a_j z^j$$

If $P(z)$ is a polynomial of degree n . Then Enestrom-Kakya [6] proved the following result.

$$P(z) = \sum_{j=0}^n a_j z^j$$

Theorem A: If $P(z)$ is a polynomial of degree n such that $a_n \geq a_{n-1} \geq \dots \geq a_1 \geq a_0 > 0$, then $P(z)$ has all its zeros in $|z| \leq 1$. Later on Joyall et al. [5] extended Theorem A by relaxing the condition of non-negativity proved the following result.

$$P(z) = \sum_{j=0}^n a_j z^j$$

Theorem B: If $P(z)$ is a polynomial of degree n such that $a_n \geq a_{n-1} \geq \dots \geq a_1 \geq a_0$, then $P(z)$ has

$$|z| \leq \frac{|a_n| - a_0 + |a_0|}{|a_n|}$$

all its zeros in

The above results were generalized by Shah [7] by proving the following more general form of Enestrom-Kakya Theorem.

$$P(z) = \sum_{j=0}^n a_j z^j$$

Theorem C: If $P(z)$ is a polynomial of degree n such that for some positive integer p , $a_p \geq a_{p-1} \geq \dots \geq a_1 \geq a_0$, then $P(z)$ has all its zeros in

$$|z| \leq \frac{M_p + a_p - a_0 + |a_0|}{|a_n|}$$

$$M_p = \sum_{j=p+1}^n |a_j - a_{j-1}|$$

Where

II. BACKGROUND

Quaternions, discovered by the mathematician William Rowan Hamilton in the 19th century, extend the concept of complex numbers. While complex numbers consist of a real part and an imaginary part, quaternions incorporate three imaginary components, thus forming a four-dimensional number system. Quaternionic polynomials are polynomials whose coefficients and variables belong to this quaternionic number system. These numbers are generally represented in the form $q = \alpha + \beta i + \gamma j + \delta k$ where $\alpha, \beta, \gamma, \delta \in R$ and i, j, k are fundamental quaternion units satisfy the multiplication rules $i^2 = j^2 = k^2 = ijk = -1$. The set of all quaternions is denoted by H in honour of Sir Hamilton. Multiplication of quaternions is not commutative in general but H is at least division ring and also forms a four dimensional vector space over R with $\{1, i, j, k\}$ as a

$$P_n = \{p, p(q) = \sum_{l=0}^n q^l a_l, q \in H\}$$

basis. Let

denote the

n th-degree polynomials with quaternionic variable $q \in H$

and $a_l, 0 \leq l \leq n$

are either real or quaternion. Carney et al. [1] proved the extension of Enestrom-Kakya Theorem for quaternionic polynomials in the form of following results.

Theorem D: All the zeros of the polynomial $p \in P_n$ of degree n with real coefficients such that $a_n \geq a_{n-1} \geq \dots \geq a_1 \geq a_0 > 0$ lie in $|q| \leq 1$.

$$p(q) = \sum_{l=0}^n q^l a_l$$

Theorem E: If $p(q)$ is a polynomial of degree n with quaternionic coefficients and quaternionic variable where $a_l = \alpha + \beta i + \gamma j + \delta k, 0 \leq l \leq n$ and

satisfying

$$\alpha_n \geq \alpha_{n-1} \geq \dots \geq \alpha_1 \geq \alpha_0, \beta_n \geq \beta_{n-1} \geq \dots \geq \beta_1 \geq \beta_0, \\ \gamma_n \geq \gamma_{n-1} \geq \dots \geq \gamma_1 \geq \gamma_0, \delta_n \geq \delta_{n-1} \geq \dots \geq \delta_1 \geq \delta_0,$$

Then all the zeros of $p(q)$ lie in

$$|q| \leq \frac{1}{|a_n|} [U_\alpha + U_\beta + U_\gamma + U_\delta]$$

Where

$$U_t = |t_0| - t_0 + t_n.$$

In this paper, we will relax the condition of monotonicity on the extreme coefficients and thereby obtain the following results which in turn generalize many known results besides the above results.

III. MAIN RESULTS

$$p(q) = \sum_{l=0}^n q^l a_l$$

Theorem 1: If $p(q)$ is a polynomial of degree n with quaternionic coefficients and quaternionic variable where $a_l = \alpha + \beta i + \gamma j + \delta k, 0 \leq l \leq n$ and satisfying $\alpha_r \geq \alpha_{r-1} \geq \dots \geq \alpha_{s+1} \geq \alpha_s, \beta_r \geq \beta_{r-1} \geq \dots \geq \beta_{s+1} \geq \beta_s, \\ \gamma_r \geq \gamma_{r-1} \geq \dots \geq \gamma_{s+1} \geq \gamma_s, \delta_r \geq \delta_{r-1} \geq \dots \geq \delta_{s+1} \geq \delta_s,$

$0 \leq s < r \leq n$, then all the zeros $p(q)$ lie in

$$|q| \leq \frac{1}{|a_n|} [M_r + N_\alpha + N_\beta + N_\gamma + M_\delta]$$

Where $N_t = |t_0| - t_s + t_r,$

$$M_r = \sum_{i=r+1}^n (\Delta\alpha_i + \Delta\beta_i + \Delta\gamma_i + \Delta\delta_i),$$

$$M_s = \sum_{i=1}^s (\Delta\alpha_i + \Delta\beta_i + \Delta\gamma_i + \Delta\delta_i)$$

$$\Delta x_i = |x_i - x_{i-1}|.$$

Remark: If we take $r = n$ then Theorem 1 reduces to the result due to Tripathi [9, Theorem 3.1].

$$p(q) = \sum_{l=0}^n q^l a_l$$

Theorem 2: If $p(q)$ is a polynomial of degree n with quaternionic coefficients and quaternionic variable $a_l = \alpha + \beta i + \gamma j + \delta k, 0 \leq l \leq n$ such that for a integer r and a non-negative integer $s, 0 \leq s < r \leq n$, we have

$a_r \geq a_{r-1} \geq \dots \geq a_{s+1} \geq a_s$, then $p(q)$ does not vanish in

$$|q| < \min \left(1, \frac{|a_0|}{V_r + a_r - a_s + |a_n| + V_s} \right)$$

$$V_r = \sum_{i=r+1}^n \Delta\alpha_i \quad V_s = \sum_{i=1}^s \Delta\alpha_i$$

Where

Remark : Applying Theorem 2 to the polynomials $p(q)$ with real coefficients, i.e., $\beta = \gamma = \delta = 0$, we get The result due to shah et al. [8] and if we put $r = n$ in Theorem 2, we get the result due to Tripathi [9, Theorem 3.7].

IV. LEMMAS

To prove the results stated above, we need the following lemma due to Gentili and Stoppato [3].

$$f(q) = \sum_{l=0}^n q^l a_l \quad g(q) = \sum_{l=0}^n q^l b_l$$

Lemma 1. Let $f(q)$ and $g(q)$ be two quaternionic power series with radii of convergence greater than R . The regular product of $f(q)$ and $g(q)$ is

$$(f * g)(q) = \sum_{l=0}^n q^l c_l \quad c_l = \sum_{t=0}^n a_t b_{l-t}$$

defined as

Let $|q_0| < R$, then $(f * g)(q_0) = 0$ if and only if $f(q_0) = 0$ or $f(q_0) \neq 0$ implies

$$g(f(q)^{-1} q_0 f(q)) = 0.$$

V. PROOF OF THE THEOREMS

Proof of Theorem 1. Consider the polynomial

$$f(q) = \sum q^t (a_t - a_{t-1}) + a_0$$

and

$$p(q) * (1 - q) = f(q) - q^{n+1} a_n.$$

Therefore by Lemma 1, $p(q) * (1 - q) = 0$ if and only if either $p(q) = 0$ or $p(q) \neq 0$ implies $p(q)^{-1} q p(q) - 1 = 0$. If

$p(q) \neq 0$, then $q = 1$. Therefore, the only zeros of $p(q) * (1 - q)$ are $q = 1$ and the zeros of $p(q)$. Thus for

$|q| = 1$, we get

$$|f(q)| \leq |a_0| + \sum_{t=1}^n |a_t - a_{t-1}| \\ \leq |\alpha_0| + |\beta_0| + |\gamma_0| + |\delta_0| \\ + \sum_{t=1}^n (\Delta\alpha_t + \Delta\beta_t + \Delta\gamma_t + \Delta\delta_t)$$

$$\begin{aligned}
 &= |\alpha_0| + |\beta_0| + |\gamma_0| + |\delta_0| \\
 &+ \sum_{t=r+1}^n (\Delta\alpha_t + \Delta\beta_t + \Delta\gamma_t + \Delta\delta_t) \\
 &+ \sum_{t=s+1}^r (\Delta\alpha_t + \Delta\beta_t + \Delta\gamma_t + \Delta\delta_t) \\
 &+ \sum_{t=1}^s (\Delta\alpha_t + \Delta\beta_t + \Delta\gamma_t + \Delta\delta_t)
 \end{aligned}$$

Now by using the hypothesis, we get for $|q|=1$

$$|f(q)| \leq M_r + |\alpha_0| + |\beta_0| + |\gamma_0| + |\delta_0| + T + M_s$$

where

$$T = (\alpha_r - \alpha_s) + (\beta_r - \beta_s) + (\gamma_r - \gamma_s) + (\delta_r - \delta_s)$$

Since

$$\max_{|q|=1} \left| q^n * f\left(\frac{1}{q}\right) \right| = \max_{|q|=1} \left| f\left(\frac{1}{q}\right) \right| = \max_{|q|=1} |f(q)|$$

, therefore $q^n * f\left(\frac{1}{q}\right)$ has the same bound on $|q|=1$.

Thus for $|q|=1$

$$\left| q^n * f\left(\frac{1}{q}\right) \right| \leq M_r + |\alpha_0| + |\beta_0| + |\gamma_0| + |\delta_0| + T + M_s.$$

Applying maximum modulus theorem [3] for quaternionic

polynomials, it follows that for $|q| \leq 1$

$$\begin{aligned}
 &\left| q^n * f\left(\frac{1}{q}\right) \right| \\
 &\leq M_r + |\alpha_0| + |\beta_0| + |\gamma_0| + |\delta_0| + T + M_s.
 \end{aligned}$$

That is for $|q| \leq 1$

$$\left| f\left(\frac{1}{q}\right) \right| \leq \frac{1}{|q|^n} [M_r + |\alpha_0| + |\beta_0| + |\gamma_0| + |\delta_0| + T + M_s]$$

Replacing q by $\frac{1}{q}$, we get for $|q| > 1$

$$|f(q)| \leq [M_r + |\alpha_0| + |\beta_0| + |\gamma_0| + |\delta_0| + T + M_s] |q|^n$$

But $|p(q)*(1-q)| = |f(q) - q^{n+1}a_n|$

$$\geq |a_n||q|^{n+1} - |f(q)|.$$

Therefore we have for $|q| \geq 1$

$$|p(q)*(1-q)|$$

$$\geq [|a_n||q| - (M_r + |\alpha_0| + |\beta_0| + |\gamma_0| + |\delta_0| + T + M_s)]$$

This implies that $|p(q)*(1-q)| > 0$, i.e. $p(q)*(1-q) \neq 0$ if

$$|q| > \frac{1}{|a_n|} [M_r + |\alpha_0| + |\beta_0| + |\gamma_0| + |\delta_0| + T + M_s]$$

Since the only zeros of $p(q)*(1-q)$ are $q=1$ and the zeros of $p(q)$. Therefore, $p(q) \neq 0$ for

$$|q| > \frac{1}{|a_n|} [M_r + |\alpha_0| + |\beta_0| + |\gamma_0| + |\delta_0| + T + M_s]$$

Hence all the zeros of $p(q)$ lie in

$$|q| \leq \frac{1}{|a_n|} [M_r + N_\alpha + N_\beta + N_\gamma + M_\delta]$$

This proves Theorem 1.

Proof of Theorem 2. Define the reciprocal polynomial

$$W(q) = q^n * p\left(\frac{1}{q}\right) = \sum_{t=0}^n q^{n-t} a_t.$$

Let $W(q)*(1-q) = g(q) - q^{n+1}a_0$, where

$$g(q) = \sum_{t=1}^n q^{n-t+1} (a_{t-1} - a_t) + a_n.$$

Thus for $|q|=1$,

we get

$$|g(q)| \leq \sum_{t=1}^n |a_{t-1} - a_t| + |a_n|$$

Now by using the hypothesis and continuing as in

Theorem 1, it follows that for $|q| > 1$

$$|g(q)| \leq [V_r + a_r - a_s + |a_n| + V_s] |q|^n.$$

But

$$|W(q)*(1-q)| = |g(q) - q^{n+1}a_0|$$

$$\geq |a_0||q|^{n+1} - |g(q)|$$

$$\geq [|a_0||q| - (V_r + a_r - a_s + |a_n| + V_s)] |q|^n,$$

If

$$|q| > \frac{V_r + a_r - a_s + |a_n| + V_s}{|a_0|}$$

that is $W(q)*(1-q) \neq 0$ for

$$|q| > \frac{V_r + a_r - a_s + |a_n| + V_s}{|a_0|}$$

Hence all the zeros of $W(q)*(1-q)$ whose modulus

greater than 1 lie in

$$|q| \leq \frac{V_r + a_r - a_s + |a_n| + V_s}{|a_0|}$$

Therefore, all the zeros of $W(q)$ lie in

$$|q| \geq \min \left(1, \frac{|a_0|}{V_r + a_r - a_s + |a_n| + V_s} \right)$$

Hence the polynomial does not vanish in

$$|q| < \min \left(1, \frac{|a_0|}{V_r + a_r - a_s + |a_n| + V_s} \right)$$

That proves Theorem 2.

REFERENCES

- [1] N. Carney, R. Gardner, R. Keaton and A. Powers, "The Enestrom-Kakya Theorem for polynomials of quaternionic variable," *Journal of Approximation Theory*, vol. 250, Article 105325.
- [2] G. Gentili and D. Struppa "A new theory of regular functions of a quaternionic variable," *Adv. Math.*, vol. 216, pp. 279-301, 2007.
- [3] G. Gentili and C. Stoppato, "Zeros of regular functions and polynomials of a quaternionic variable," *Mich. Math. J.*, vol. 56, pp. 655-667, 2008.
- [4] N. K. Govil and Q. I. Rehman, "On the Enestrom-Kakeya Theorem," *Tohoku Math. J.*, vol. 20, pp. 126-136, 1920.
- [5] A. Joyal, G. Labelle and Q. I. Rehman, "On the location of zeros of polynomials," *Canadian Mathematical Bulletin*, vol. 10, pp. 53-63, 1967.
- [6] M. Marden, "Geometry of polynomials," *Mathematical Survey and Monographs*, 1949.
- [7] M. A. Shah, "On the regions containing zeros and zero free regions of a polynomial," *International Journal of Advanced Research in Science and Engineering*, vol. 7, pp. 2761-2772, 2018.
- [8] M. A. Shah, R. Swroop, H. M. Shafi and Insha Nisar, "A Generalization of Enestrom-Kakeya Theorem and a zero free regions of a polynomial", *Journal of Applied Mathematics and Physics*, vol. 9, pp. 1271-1277, 2021.
- [9] D. Tripathi, "A note on the Enestrom-Kakeya Theorem for a polynomial with quaternionic variable," *Arab. J. Math.*, vol. 9, pp. 707-714, 2020.